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VU | V3 | Vaq | V42 | Va3 | Vsy | Usp | VUs3 | Usa | Ve1| Ve2 | V63 | Vea | Ves | Vee | V67 | Ves | Ve9
91 10 | £30 0 15 0 +27 0 0 0 0 0 56 0 0 0 0 0
92| 4 |+10] 4| 0 [ 10| 0 [+15] F5 | 0 | -8 0 [ 48] 0 0
9.3 9 +26 3 9 6 +17 | £10 0 +4 0 8 0 16 0 40 0 0 0
94 | 7 |+19] 1 | 3 | 11 | 46 |+18| F2 | 43 -8 24 [ 32 0 ] 0] 0
95 6 +15 4 0 11 0 +20 | +5 0 72 | —192| 64 0 16 64 | —64 | 64 | —160
9.6 7 +18 | —3 8 +11 | £2 0 +4 0 —8 —8 16 0 8 32 0 0
9.7 5 +12 | —4 3 +3 | +10| #2 | +3 | -8 0 16 32 | —8 0
98| 0 | 2| 1 | -2 F2 | 45 | +3 | ¥3 0 8 832 0
99 8 +22 0 8 +13 | 18 0 0 0 8 16 0 16 16 0 0
9.10| 8 +22 6 4 10 +8 [ £18 | +4 | £4 | 48 | —128| 48 0 0 80 | —48 | 48 | —112
911l 4 | 9| 1 | —1 Fi (411 +2 [ F1 | 8| 8] -8 8] 0 [16] 8 [24] 0
912 1 | 3| -1 | -2 F3 |+10| +2 | F3 | 8 | 40 [ 24 | 0 | 16 | 8 |—16]| 40 | —40
913 7 +18 3 +6 | +12 | +4 0 32 | —88 | 40 0 —8 48 | —16 | 40 | —80
914! -1 | F2| o | 2 | -5 | 43 | ¥7 | ¥5 | 45 |-16| 48 |-16| 0 | -8 | -8 | 16 |-16]| 64
915 2 +5 | -1 | =2 8 +2 | 19 0 +1 0 0 0 0 16 0 -8 | 32 8
9.16 +14| 3| 7 | 3| +6 | +2 | +8 [F10| 62 [-157| 79 | 16 | -33| 16 | —2 | 95 | -116
917] -2 o | 2 | 1 [ -2 | F1 | +2 | +4 | F4|16|-48| 16| 8 | 0 | 0 |-16]| 16 | —16
918] 6 |+15| 2| 4 [ 5 | +6 | +8 | F3 | 0 |-16] 40 |—24] 0 | 16 | 0 | 32 |-24] 32
919 -2 | +1 | 1 | 2 | -4 | F2 |4 |45 | F5/ 0| 0 | O -8 8 | 0 | 24




V3 Us1 | Vs2 | Vs3 | Usa | Ve1 | Ve2 Vg9
9.20 +4 +2 | 8 | £2 | ¥3 | -8 | 8 0
9.21 +6 F3 | +11| £5 | ¥3 | 40 | —104 —88
9.22 +1 +2 | +4 | +6 | +6 | =2 | =19 12
9.23 +11 +4 | £2 | 2 | F4 | O 0 8
9.24 12 2 | 4 | 6 | F5 | 6 3 )
9.25 +1 F1 | #5 | ¥4 | £3 |—26| 29 4
9.26 +1 +2 | +5 | ¥4 | +4 | O 0 16
9.27 *1 F1 | £2 | 43 | ¥3 | —-16| 48 32
9.28 0 0 | ¥1 | +1 | 0 | 14 | =37 20
9.29 12 ¥4 | £8 | £12 | ¥10 | —-10| 11 36
9.30 +1 0 0 0 | ¥1 | -2 | 21 4
9.31 +2 +1 | ¥2 | ¥2 | £2 | 16 | —48 —40
9.32 +2 +1 | F3 | F1 | 3 | 10 | -9 4
9.33 t1 ¥2 | +4 | £6 | ¥5 | 18 | =25 36
9.34 0 ¥2 | +4 | £6 | ¥5 | 18 | =25 36
9.35 +18 0 |4+24|+12| 0 |136|—368 —304
9.36 t7 0 | 8 | ¥4 | +1 | —42| 101 92
9.37 +1 F1 | £2 | £2 | ¥3 | 24 | —16 16
9.38 t14 +5 | +4 | 6 | ¥5 | 54 | —117 108




Va | V3 | Vaq | V42 | Va3 | Vs | VUsz | Vs3 | Usa [ Ve1| Ve2 | Ve3 | Vsa | Ves | Vee | Ve7 | Ves | Vo
939] 2 | +4| 2 | -3 8 | F3[+10| +2 | F1 |22 |-69| 15| 0 | 15 | 16 | -26| 23 | —68
940 -1 ¥1 | 3 | -1 | 1 | 2 | ¥4 | F6 | x6 | 2 | -3 | =7 17 | -8 | =22 | =15 | —4
941 0 | F1 | -3 | 3 | =6 | +4 | ¥9 | ¥8 | £6 |—58| 131 | —25| 0 |—17 | —24| 46 | —41| 140
942| -2 | 0 5 | -1 0 0 0 0 | 22 |-27| 5 0 9 4 | -14| 13 | =36
943 +2 -3 7 0 +3 | +7 | +6 | —-34| 69 | -35| -8 25 —4 10 | —35| 28
9.44 +1 | 2| 1 [ 2| Fr |23 F3|-10] 21| 5 ] 0o | -7]-4]10] 5 |28
9.45 F4 | -1 | -1 5 0 | ¥4 | +4 | ¥2 |-34| 61 |—-19| 0 9 | —-12| 18 | =27 | 52
946| -2 | +3 | 6 3| 0o [+1[F4] 0o |40 -32] 8 0| 0] 8 [-16]| 24 |—24
947] -1 +2 | 0 S| F1 |43 F1 ] 0o |-6] 9 [ 5| 8 |[-11]-8] 2 | -3] 44
948| 3 +5 3 —1 +2 | +6 | ¥6 | £3 | 40 | —104| 24 0 0 24 | =32 | 40 | —88
9.49| 6 +14 3 3 3 +4 | £6 | 14 0 38 | =91 | 37 0 -7 36 | -30| 45 | —84




